Pre-Calculus Unit 7 REVIEW: Trigonometric Identities

Name: Date: Period:

In addition to the problems on Quiz 1, 2, and 3 verify the following identities:
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Find exact values of the following using Sum and Difference Identities:

3.) sin Br 4)) cos =
12 6
Simplify the following using Sum/Difference and Double-Angle Identities:
5.) 2sin135° cos 135° 6.) cos?25° — sin?25°
7.) sin110°cos40° 4+ cos 110°sin 40° 8.) cos 200° cos25° — sin 200° sin 25°

Verify the following Identities:
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Continue verifying the following Identities:

11.) 2sinacosb = sin(a + b) + sin(a — b)
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14.) sin2B = 2 cot B sin?f
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